RIEMNRAEPIEF—LEERE(EIAEELEE) | a4
HExT REARM SH4FE4R1B~SF4E8H31A
X ERREYR 6% [>bXiERTEH 3%
(1) EBEER
£ FR BHMRMENREPZIEZEF—L
F—LERERSE BHTEEIE R
18 24 Hh i M2
B DS EE 17,378 A
L. EXR-ENERTEEN| 2291A
55, FREE = B E 5 1,350 A — =& DT8% FEEED58.9%
HKABIIBREEDNDIA1BRE
(2)ZENERE
ORI ©) =27 e
Bt 44 mE oA
Z 245 KIFDH 5A
ZDfh 1A
QF
40~ 647 oA @iEEIL—
65~697% oA N oA
70~747% 1A £33 2N
75~79% 3A REZE (1PN
80~ 84% 2N EFER (N
85m Ll £ oA NEXIEEME 3A
= AR A4 R 1A
Z it oA
() F—LGEENRR
#EB% ~78 54
8~14H 14
15~30H o
318~ ¥
il 12[8]
%t i [3] 5% 662l
F—LERFBMERYK 4[8]
Z{EHARM ~308 ¥
31~60H of4
61~90H 14
91H~ 21
g ER B 52—

XERTROSIH#E

NEXEEMA




